
Dhis Dhi his

670 460 0,686567

25 bar 

450 

1,5 bar 
210 

hg=0,95 

𝜂𝑖𝑠 =
Δℎ

Δℎ𝑖𝑠
 

21.1 

his=0,71 

hm=0,92 

Δℎ𝑖𝑠 𝑎𝑓𝑙æ𝑠𝑡 𝑡𝑖𝑙 3350 − 2680=670 kJ/kg 

Pkl=1400 kW 

Δℎ 𝑎𝑓𝑙æ𝑠𝑡 𝑡𝑖𝑙 3350 −2890=460 kJ/kg 



Pkl Dhis his hm hg md kg/s

1400 670 0,686567 0,92 0,95 3,482241

md Dhis Pkl hisKl

3,482241 670 1400 0,60006

𝑃𝑘𝑙 = 𝑃𝑖𝑠 ∗ 𝜂𝑔 ∗ 𝜂𝑚 ∗ 𝜂𝑖𝑠 

21.3  
Isentropisk klemvirkningsgrad 
 

𝑃𝑖𝑠 = 𝑚𝑑 ∗ Δℎ𝑖𝑠 

𝑃𝑘𝑙 = 𝑚𝑑 ∗ Δℎ𝑖𝑠 ∗ 𝜂𝑔 ∗ 𝜂𝑚 ∗ 𝜂𝑖𝑠 

𝑚𝑑 =
𝑃𝑘𝑙

Δℎ𝑖𝑠 ∗ 𝜂𝑔 ∗ 𝜂𝑚 ∗ 𝜂𝑖𝑠
 

𝑚𝑑 =
1400

670 ∗ 0,95 ∗ 0,92 ∗ 0,69
 

21.2 

𝜂𝑔 =
𝑃𝑖𝑠

𝑃𝑘𝑙
 𝜂𝑔 =

𝑚𝑑 ∗ Δℎ𝑖𝑠

𝑃𝑘𝑙
 


